1.) 
$$G = Su(1+) \times Su(1+)$$
;  $H = Su(1+)$   
 $u \gg n_{G} = d(G) - d(H) = n_{f}^{2} - 1 = 15$ .

$$= \cos\left(\overline{m}\right) + i \overline{\pi} \cdot \overline{\sigma} \cdot \frac{1}{\overline{\pi}} \sin\left(\overline{m}\right)$$

$$(1 - \frac{\pi^2}{6} + \dots)$$

$$= 1 + i \pi \vec{\sigma} - \frac{\pi^2}{2} - i \pi \cdot \sigma \cdot \frac{\pi^2}{6}$$

Note:  $(\sigma^{a}\sigma^{b}) = \frac{1}{2} < \xi \sigma^{e}, \sigma^{b} = (47)\delta^{eb} = 2d^{eb}$ 

 $\sqrt{\pi} (\pi \sqrt{2} + \pi \sqrt{2} \sqrt{2} = 2 = \sqrt{2} \sqrt{2} \sqrt{2} + 2(\pi \sqrt{2} \sqrt{2})^{2}$   $-\frac{2}{3} \sqrt{2} \sqrt{2} \sqrt{2} + \sqrt{2} \sqrt{2} \sqrt{2} \sqrt{2}$ 

Restoring the factors of F, we get the first repult





$$= \frac{i}{3\tau^{2}} \leq \delta^{a_{1}a_{2}} \delta^{a_{3}a_{4}} \left( 2 k_{1} \cdot k_{2} + 2k_{2} \cdot k_{4} \right)$$

$$= \frac{i}{3\tau^{2}} \leq \delta^{a_{1}a_{2}} \delta^{a_{3}a_{4}} \left( 2 k_{1} \cdot k_{2} + 2k_{2} \cdot k_{4} \right)$$

$$= k_{1} \cdot k_{3} - k_{1} \cdot k_{4} - k_{2} \cdot k_{3}$$

$$= k_{1} \cdot k_{3} - k_{1} \cdot k_{4} - k_{2} \cdot k_{3}$$

$$= k_{2} \cdot k_{4} + k_{2} \cdot k_{4} + k_{2} \cdot k_{3}$$

$$= k_{2} \cdot k_{4} + k_{2} \cdot k_{4} + k_{3} \cdot k_{3}$$

on stell:

n p 2S - t - n = 3s

C.)  
To get the scattering amplitude, it is good  
enough to know the on-shell vertex and  
of course we can clueyd use momentum  
conservation 
$$\sum_{i=0}^{n} k_{i} = 0$$
.

With this, we have 
$$S = (P_{1}+P_{2})^{2}$$
  

$$\stackrel{i}{=} \frac{i}{T^{2}} \leq S^{3,92} S^{3,94} S + 2 c - 3^{3} + 2 c - 3^{4} + 2 c - 3^{4$$

This lost line is the result for 
$$\pi\pi$$
  
scattering! We just head to replace  
 $P_i \rightarrow -P_i$  for the ontgoing momente,  
i.e.  $t = (p_i - p_3)^2$  and  $n = (p_i - p_4)^2$ .

Note: If one includes the quark masses, one instead obtains

$$\mathcal{M} = \frac{1}{\tau^2} \left\{ \int_{\tau^2}^{\sigma_1 \sigma_2} \int_{\tau^2 \sigma_4}^{\sigma_2 \sigma_4} (g - M_\pi^2) + \int_{\tau^2}^{\sigma_1 \sigma_4} \int_{\tau^2 \sigma_4}^{\sigma_2 \sigma_2} (g - M_\pi^2) \right\}$$

$$d$$
.) With  $g(\pi^2) = 1 + \alpha \pi^2$ 

$$U(x) = 1 + i \pi \vec{\sigma} - \frac{\pi^{2}}{2} - i \pi \cdot \sigma \left(\frac{1}{6} - \alpha\right) \pi^{2} + o(\pi^{4})$$

d.) With 
$$g(\vec{\pi}^2) = i + \alpha \vec{\pi}^2$$
  
 $U(x) = i + i \vec{\pi} \vec{\sigma} - \frac{\vec{\pi}^2}{2} - i \vec{\pi} \cdot \sigma (\frac{1}{6} - \alpha) \vec{\pi}^2$   
 $+ o(\pi^4)$   
 $\partial_\mu U = i \partial_\mu \vec{\pi} \cdot \vec{\sigma} - \vec{\pi} \partial_\mu \vec{\pi} - i \partial_\mu \vec{\pi} \cdot \vec{\sigma} \vec{\pi}^2 (\frac{1}{6} - \alpha)$   
 $-i \vec{\pi} \cdot \vec{\sigma} 2 \vec{\pi} \partial_\mu \vec{\pi} (\frac{1}{6} - \alpha)$ 

$$\begin{aligned} deff &= \frac{\mp^2}{+} \langle \partial_{\mu} \mathcal{U} (\partial^{\mu} \mathcal{U})^{\dagger} \rangle \\ &= \frac{1}{2} (\partial_{\mu} \vec{\pi})^2 + \frac{1}{2\pi^2} (\vec{\pi} \partial_{\mu} \vec{\pi})^2 \\ &- \frac{1}{\pi^2} (\frac{1}{6} - \varkappa) (\partial_{\mu} \vec{\pi})^2 \vec{\pi}^2 \\ &- \frac{2}{\pi^2} (\frac{1}{6} - \varkappa) (\vec{\pi} \partial_{\mu} \vec{\pi})^2 \vec{\pi}^2 \end{aligned}$$

$$-\frac{1}{\pi^{2}}\left(\frac{1}{6}-\alpha\right)\left(2\mu^{\frac{1}{2}}\right)^{2}\pi^{2}$$
$$-\frac{2}{\pi^{2}}\left(\frac{1}{6}-\alpha\right)\left(\pi^{2}\theta^{\frac{1}{2}}\right)^{2}$$
 (\*)

Agrees with previous remt for x=0. V

$$+\frac{1}{F^{2}}\left(\frac{1}{6}-\alpha\right)\overline{\pi}^{2}\left(\overline{\pi}\ \Box \overline{\pi}\right)$$
The Feynner rule for this tern

$$\int eff = \frac{1}{2} \left( \partial_{\mu} \frac{\partial}{\partial t} \right)^{2} + \frac{1}{2T^{2}} \left( \frac{\partial}{\partial t} \partial_{\mu} \frac{\partial}{\partial t} \right)^{2}$$

$$- 2 \left( \pi \partial_{m} \pi \right) + \left( \partial_{\mu} \pi \right)^{2} - \pi^{2} \left( \pi \partial_{m} \pi \right)^{2}$$

Consider the integration-by-part identity: takes the form  $S^{\alpha,\alpha_2}S^{\alpha_3\alpha_4}k_4^2$ + permutations, but  $k_i^2 = 0$  on the maps shell.

- Scattering amplitude is independent of a and agrees with previous result. Equally well, one could use (+), derive Feynner rules and comparte. This would be tedious but lead to the serve conclusion. Note that & = 1 gives the simplest form of heff. This choice corresponds to the J-parameterization (4.144) in the script.

3a.) The external chirent part of & is ad = in Frytet + 12 42 424  $= \overline{\Psi}_{R} g^{\mu} l_{\mu} \Psi_{L} + \overline{\Psi}_{R} g^{\mu} r_{\mu} \Psi_{R}$ Perform local chirel transformation 42-1/(x)42 L= Fidt - FVidvit  $= \overline{\Psi}_{i} \overline{\partial} \Psi_{i} + \overline{\Psi}_{i} (V_{i}^{\dagger} \overline{\partial} U_{i}) \Psi$ The current of yields V(X)  $\Delta \mathcal{L} \rightarrow \Delta \mathcal{L} - i \overline{\mathcal{L}} V_{L}^{\dagger} y^{\dagger} (\partial_{\mu} V_{L}) \mathcal{L}$ 

## 6.)

$$i D_{\mu} U = i \partial_{\mu} U + r_{\mu} U - U \ell_{\mu}$$

$$= V_{R} (i D_{\mu} U_{\lambda}) V_{L}^{+} + V_{R} (i \partial_{\mu} U_{\lambda}) V_{L}^{+} + V_{R} U_{\lambda} U_{L}^{+}$$

$$= V_{R} (i D_{\mu} U_{\lambda}) V_{R}^{*} V_{R} U V_{L}^{+} - V_{R} U V_{L}^{+} V_{L} U_{L}^{+} V_{L}^{+}$$

$$= V_{R} (i D_{\mu} U_{\lambda}) V_{L}^{+}$$

$$= V_{R} (i D_{\mu} U_{\lambda}) V_{L}^{+}$$

$$= V_{R} (i D_{\mu} U_{\lambda}) (D^{\mu} U_{\lambda})^{+} ] \text{ is invariant}.$$